(a)  Factorize x* — 3x— 10.

(b)  Solve the equation 2 —=3x—10=0.

Working:
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Answers:
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(Total 4 marks)




The diagram represents the graph of the function

fix > (x-p)x—q).
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(a)  Write down the values of p and ¢.

(b)  The function has a minimum value at the point C. Find the x-coordinate of C.

Working:
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(Total 4 marks)



3.
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The diagram shows the parabola y = (7 —x)(1 + x). The points 4 and C are the x-intercepts and

the point B is the maximum point.

Find the coordinates of 4, B and C.
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Working:
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Answer:
A -~ ( -1)0) B = ( 3 /t)
C 2 ( '?, C) . (Total 4 marks)

The quadratic equation 4x” + 4kx + 9 = 0, k > 0 has exactly one solution for x.

Find the value of £,

(kY- #(0)(9)
b gy - KT
k= 144

K> 9

Working: A= () ( o SSutim )

= Ll’¢[10

Smee €20 . e 23

Answer:

(Total 4 marks)



The diagram shows part of the graph with equation y = 2+ px + gq. The graph cuts the x-axis at
—2 and 3.
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Find the value of
(a) ps
(b) g
Working: hots € “2, 3

e [ xt2){%-3)
y: )()'—-gxﬂ_)("é

j: x"- Xk

Answers:

(Total 4 marks)



Consider the function f(x) = 2% — 8x +5.

(a)  Expressf(x)in the form a (x — p)2 + g, wherea, p, g € Z.

(b)  Find the minimum value of /(x).

Working:
)P(x)i 2 (Xl- Ex4Y4-Y)+§
Y [y = Ypay JTO-F

=2 (w-2)"-3

) Answers: (
AN 3 = g - EATY I
b (a) 0‘2’/) ..... 2 N H*) 2( % 4
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(Total 6 marks)



7.

The diagram shows part of the graph of y =a (x — !1)2 + k. The graph has its vertex at P, and

passes through the point A with coordinates (1, 0).
e\ -V
(- \ L)
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(a)  Write down the value of
(OR
(i) k.

(b)  Calculate the value of a.

Working:
Y a (-t
Lj A ()( L 1)2 Tt

0- a(yﬂf’ﬂ.

-2 =40

Answers:

|
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(Total 6 marks)



8. The equation kx* + 3x + 1 =0 has exactly one solution. Find the value of k.

Working:
ALY,

b-Hac

1 (3 - 0)

0 | 63]- 4 Answer: K
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~ Lff (Total 6 marks)
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9. The diagram shows part of the graph of the curve y = g (x — h)* + k, where a, h, k€ Z.
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(a)  The vertex is at the point (3, 1). Write down the value of /1 and of k.
b3, k=1 | &
(b)  The point P (5, 9) is on the graph. Show that « = 2.
(3
(¢)  Hence show that the equation of the curve can be written as
y =2 —12x + 19.
(n
(Total 6 marks)
10.  The equation x* = 2kx + 1 =0 has two distinct real roots. Find the set of all possible values of k.
| Working:— ‘ . /{/l
}) lUac 7 D) phuek Wil 3 ddagram
(“2]C)’L}(1)(1>>0 ¢ T ’i :+ b
| 4e”- >0 l - |
———
Solv - Gk = ¢
Answer:
K=\
S el k7|
(Total 6 marks)
e = &0




